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1. Please find the general solution of problem (a) and (b).

(8)y +3y=8 (20%)
)2y +e” +6x1)y +4+12xp =0 (20%)
2. Show the differential equation is exact or not exact, if not exact find an integrating

Sactor and general solution of different equation.(20%)

6xy+2y+8+xy =0

3. Solve the initial value problem:

y"+3y"+ 2y =sin( 2¢), y(0) = 2,y'(0) = -1(20%)

4. Find the eigenvalues of the matrix B and, for each eigenvalue, a corresponding
eigenvector. Also check that eigenvectors associated with distinct eigenvalues are

orthogonal. (20%)




